15

05 |

15 |

05 |

15

0.5

LD,,Q°=0.6,6=0.37,1t

2013/09/10 12.51

2 [

® R=Y /Ysim B ® R=Yo/Yoim

- % + 15 -
o e,
;* """ +++¢ """" "'ﬁ'"";"*'ﬁ """""""" + 1 **’0"".00¢¢#+
+ + 0.5 }
i ~t=0.026 i ~1=0.038
0 5 10 15 %0 5 10 15
2 [

® R=Y, /Y., i ® R=Ye/Ysim
- 15 |-
; i ® %440
*”'+"*"?"'*"?","Q"g""'?"""."?"?"'*"$"' 1 *”';"#"*’ """ + """""""""" ?"a"'f"¢";"'; """"
- 05 - ¢
I —t=0.05 i —1=0.062
0 5 10 15 %0 5 10 15

® R=Y, /Y

e %44
FRETLNP
DU O RSN OO AT A AP @ ... @ Ll
++ ; . *++

i ~t=0.074
0 5 10 15



LDZ,Q220.6,820.74,T[- 2013/09/10 12.51

o

o

2
i [ ] R:Yexp/Ysim r L d R:Yexp/Ysim
- 15 -
i X + i °
.0, .0.0.0.0.8 1a b T 999 oo a a? 0.0.0%9 ¢
++ .09 9 5..¢¢+ 1. ®0o0q® L JN Bhall I
- 05
L —1=0.026 L —1t=0.038
L ‘ | ‘ | | ‘ | O L ‘ | ‘ | | ‘ |
5 10 15 0 5 10 15
|- 2 |-
L b I:Q:Yexp/Ysim L . R:Yexp/Ysim
- 15 |-
: ° -
:"’""'9 """ ."9"."""""‘ """ ‘ '."."."'Q"?"' 1 ’7"’""*""'""* """""""""" *""""".".""""'
i ¢ i L] # ++ °
- 05
L —t=0.05 L —t=0.062
L ‘ | ‘ | | ‘ | O L ‘ | ‘ | | ‘ |
5 10 15 0 5 10 15
. R=Yexp/Ysim




LD2,Q2:O.55,5:0.37,T[' 2013/09/10 12.51

2
° R=Yexp/Y+m B ° R=Yexp/Ysim

15 -

.” """ MMN“*H ----------- + + 1 Feenn +..+..¢...¢...! ,,,,,,,,,,,,,,,,,,, ,+++ .......

| 15 o THE
---------- ++++“”,¢+ ....... T R S + ++* ........... *+++ ................




LDZ,Q220.55,€:0-74,T[- 2013/09/10 12.51

2

® R=Y__ /Y

exp’ ' sim

=
[

I
o
-
:,
L4
-
d
e
4‘%
'—\

o
=
o
=
(¢
Orrrrryrr Ty rrrr 111
(6]
=
o
=
(6,1

X *os
o 0.5
~t=0.026 ~1=0.038
| T T N 0 | TR S TR
2 L
® R=Y, /Y., i ® R=Ye/Ysim
15 |-
"""""""" ‘ ”"#**"d 1 “+¢++++¢t¢
et IR
~t=0.05 i + —1=0.062 +
5 10 15 %0 5 10 15
® R=Y_ /Y

exp’ ' sim




15

0.5

15

0.5

15

0.5

LD,,Q°=0.65,e=0.37,10

2013/09/10 12.51

* ® R=Y_ /Y

exp’ ' sim

2
® R=Y, /Y im‘ ® R=Y, /Y .
- + + + 15 -
° + ° ®
A A + """"""""""""" 1 ?+ """ #¢* """" ¢¢ """" ¢ ¢¢¢*+
% RN
—t=0.026 r —1=0.038
0 00 15 O s 10 15
2
[ R:Yexp/Ysim L4 R=Yexp/YSIm
= 15
: B oo
: o E . °
”";";"#"d"*“"'" """ 0@y @ g L e ¢¢+ """""""""""" ¢ e
- 05 °
i —t=0.05 —1=0.062
0o | 1‘0 | 1‘5 | %0 &‘3 | 1‘0 1‘5 |



15

0.5

15

0.5

15

0.5

LD,,Q°=0.65,e=0.74,10

2013/09/10 12.51

1 21
% +T [ ] R=Tex /Ysim ‘ r L d R:Yexp/Ysim
ST TR e
i r ° °
i B ®
+ .................................................................... L 002 tet a0 0,
- 05
—t=0.026 i —1=0.038
‘ | ‘ | | ‘ | L ‘ | ‘ | | ‘ |
5 10 15 %9 5 10 15
2 |-
[ ] R:Yexp/Ysim r L4 R:Yexp/Ysim
- 15 |-
........... SRS SO RPN AL S
EORACAITE . *°° ee°® ++++++ ®ece
- 05
—t=0.05 r —1=0.062
‘ | ‘ | | ‘ | L ‘ | ‘ | | ‘ |
5 10 15 %0 5 10 15
g R=Yexp/Ysim
A ‘ """""""""""""""""" # e
o + + + oo,
—t=0l074
‘ L L L ‘ L L L ‘ L
5 10 15



15 |

0.5

15

0.5

15

05 T

LD,,Q°=0.75,e=0.43,10

2013/09/10 12.51

L _ 2 L _
: + + + ol
BT 00 %0 ool + ....... T ©0 0 0% o
+ . ¢+++ + et . *++
- 05 |-
E —t=0.05%7 ; —t=0.051
0 5 10 15 %0 5 10 15
2
, R A 1.5 f + . ° ° ¢
ST YL TP PN, S oIS RSSTOTTOTIIN U, SO L JP S
e L R 1+++*+ AP
i 05 -
0 5 .‘ 0 15 %0 5 .‘ 10 15
2 L
¢ ; R=Y oo gim + + R=Y oY sim
C . 15 - +
Iy
v ee 4T
- 0.5 + +
0 “ é " 1‘0 | 1‘5 o0 o é " l‘O | 1‘5 |






15 |

0.5

15

0.5

15

0.5

LD,,Q°=1,6=0.65,1C

® R=Y__ /Y

exp’ ' sim

7 —t=0.06
"‘.‘3 | 1‘0 | | 1‘5 |
® R=Y, Yy,
Hé““ ....... ¢*+¢¢.’O"¢
7 —t=0.1
‘5 | 1‘0 | | 1‘5 |
® R=Y, Yy,
- ++ . P
f + .
*“'*";"# """""""""""""""""""" T
—t£0.14
\“3 | | 1‘0 | 1‘5 |

2

=
[

[N

o
o

o

N

=
o

[ =Y

o
o

o

2013/09/10 12.51

E L4 R:Yexp/Ysim

E —1=0.08

0 é | 1‘0 | | 1‘5 |
E d R:Yexp/Ysim
o “H+ ...... + ....... ++* ......... i
o . + ¢

E —t=0.12

0 ‘5 | 1‘0 | | 1‘5 |




111111111111111




LD2,Q2:1.6,8:0.63,n' 2013/09/10 12.51

21 2 r
L b R=Yexp/Ysim [ * R:Yexp/Ysm
15 - 15 -
- 0‘ 00900909440 : 0e°%c0.0 °?
SN @ g T T @ T L ARdll 2 1 "0 g @@ @ - ¢ ®® P
05 [ 0.5 -
L —t=0.135 L —t=0.165
O L ‘ | ‘ | | ‘ | O L ‘ | ‘ | | ‘ |
0 5 10 15 0 5 10 15
2 r 2 r
: . RZYEXD/YSII‘H : . RzYexp/Ysm
15 | 15 |-
C e ° o0 ¢ - e o XK
R S 0002 % . ..0¢- 129092 0809 . 0.0
o e ¢ L4 * r ¢ °
05 [ 0.5 -
L —t=0.195 i —t=0.225
L ‘ | ‘ | | ‘ | L ‘ | ‘ | | ‘ |
0 0 5 10 15 0 0 5 10 15
2 r 2 r
L . R=Yexp/Ysim L . RzYexp/Ysm
15 - 15 - +
1 I + .......... 0.0.9.0.¢ ¢ % ¢¢ ....... 1 g L I ##* .................... o .
e vy e ’ +¢ .
05 - 05 |- ¢
L —t=0.255 i —t=0.285
0 L \ P L 0 L \ L . P



